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At what temperature will the Tms Speed o
oxygen molecules becomé just sufficient g,

escaping from the Earth’s atmosphere 7

(Given : -
Mass of oxygen molecule (m) =276 % 107" kg

=23 -1
Boltzmann'’s constant kg = 138 * 107 KT

(1) 2508x10*K
2) 5016x 10° K
(3 8s60x10°K
(4) 1254x10°K

The fundamental frequency in an open orgar
pipe is equal to the third harmonic of a close
organ pipe. If the length of the closed organ pip
is 20 cm, the length of the open organ pipe is

{1} 132cm

2} 125cm
i3] Bem
i4) 16em

The volume (V) of a monatomie gas varies witl

4. Tl wramm e & s (V) F amom & e : ;
fen o Ty smgem g # ) smem A §| o emperature (T), as shown in the graph. Th
e 3t s s i v o ratioc of work dome by the gas, to the hea
e TR [Hl m absorbed by it, when it undergoes a change from
TEF T HEYIE w0 w1 e 2 state A to state B, is
v v |
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7.

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance v
each} which are connected inm series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
ghows the correct relationship between [ and n 7

I

m 1

0 —+n
1

(2] T '
(] —I
|

(] T i
0 —n
I

@ 1 f
) — [k

A carbon registor of (47 £ 4-T) k€2 i3 to be marked
with . rings of different colours for its
identification. The colour code sequence will be
(1) Violet - Yellow - Orange — Silver

(2)  Yellow — Green - Vidlet — Gold

13} Yellow — Violet - Orange — Silver

(4) Green- Orange - Violet - Gold

A set of 'n’ equal resistors, of value B’ each, are
connected 'in series to a battery of emf ‘E' and
internal resistance ‘R’ The current drawn is L.
Now, the ' resistors are connected in parallel to

the same battery. Then the current drawn from
battery becomes 10 I, The value of ‘n’ is

(2) 20 @ 2
_9n @ 1
W 4 9
ALHCAMWWIPage 3 T @14 & 0 T | SPACE FOR ROUGH WORK

Hindi/English

Scanned by CamScanner



8.

10.

11.

el et et Aesier T WA 5 divimA
3 Sz TmiEm (W T dieem # ge S
fag) 20 divv # | eEndiz = vy 2

(1 400
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10,

11.

Current sensitivity of a moving coil galvanometer
is b divvmA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V,
The resistance of the galvanometer is

(1) 402

(2] 2500

3) 250

(4 H00Q

A metallic rod of mass per unit length
05 kg m™' is lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) T14A

(2) 1476 A

3) H5-B3EA

4) 1I'32 A

A thin diamagnetic rod is placed wvertically
between the poles of an electromagnet, When the
current in the electromagnet is switched on, then
the diamagnetic-rod is pushed up, out of the
horizontal magnetic field. Henece the rod gains
gravitational potential energy. The
required to do this comes from

(1)

(2)

work

the current source

the lattice structure of the material of the
rod

the magnetic field

the induced electric field due to the
changing magnetic field

(3)
4

An inductor 20 mi, a capacitor 100 uF and a |
resistor 50 0 are connected in series across a

W R source of emf, V = 10 gin 314 t. The power loss in
the circuit 15

ol 1 079w

(2) 274W o T

b O A W (3) 048 W

@ 113W (4) 1113W
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12. R R 15 em WEW 3 % Rl smme o A[12. An object is placed at a distance of 40 em from a
40 em gt W e & | af gm T = doy ) fo concave mirror of focal length 15 cm, If the ohject
20 em THWFINE T ﬁ}ﬂl o, 1 ufafier ferht E,:.ﬂ' is displaced through a distance of 20 em towards
w ferenfim € mm ¢ the mirror, the displacement of the image will be
(1) Sﬂmiﬂﬂrﬁz&‘ (1) 30 cm away from the mirror
(2) 30 cm 2dw & qmy (2) 30 em towards the mirror
(3) AGemTmH i {3) 36 cm away from the mirror
() 36 em =90 & T {4 36 cm towards the mirror
- |18, An em wawe is propagating in a medium with a
13, =i Taga-Ta T fedt wmeaw & A ; Vi # velocity ? _ V1. The instantaneous oscillating
Wmfﬁtiﬁﬁmwﬁm.gmﬁqmmr ElEBtﬁ-Eﬁ'EI&Dfﬂliﬂ-llm‘i:l'ﬂ-"ﬂiﬂdﬂ-ﬂg+}rm
Bt 2% +y @@ % wfm & | 7% 8|  Then the direction of oscillating magnetic field of
ﬁﬂﬁ-ﬂ“ﬁﬂm#ﬁﬁfﬂﬁaﬁmﬂﬁmfﬂﬂ the em wave will be along
(1) =-zfm (1) =z direction
(2) —yfm (2) -y direction
vl (3) + 2 direction
(4) —xfm (4) - xdirection
14, ot 3% R 60 mA #) u wafer w3 W 9 s 14, %emaguehﬁﬁﬂtiﬂmem-ammdina@
st gy feafis wul = 79 25 mJ # | T inductor is 26 mJ, when the current in the
=1 S B - inductor is 60 mA. This inductor is of inductance
W 01EH A (o Jelars
(2) 1389 H L)w&‘ p:;,?i. e U s i
&) 15485 H P Y (3) 13888 H
" 1389 H E ;{’ (4) 1389 H
% 1 15. The refractive index of the material of a prism is
15, et firem & wared 2 i i V2 and the angle of the prism is 30°, One of the
300 &) fiem % 2 7El § @ w9 two refracting surfaces of the prism is made a
mﬂmiﬁﬂ’ﬂﬂ“mwtl?ﬂﬂﬁ*ﬁ_ mirror inwards, by silver coating, A beam of
i w3 A T S g (2 g monachromatic light entering the prism from the
# wratda #F % uryr) I @ o SR e AWM, | other face will retrace its path (after reflection
afz i W ST B AE R from the silvered surface) if its angle of incidence
(1) B0° on the prism is
@ 30" Sz 80
MED 2 %0
@ = (3) 45°
i4) =zaro
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(1) Ip=d40pA, Iy = 10 mA, =250
(2} Ig=20pA, 1,=6mA, B=250
13) Ig=25pA, Io=6mA, =200

A Is=40 pA, Io=6mA, B=125

v TR pon wifi wvE R R o
(1) iﬁaqm{hﬁjnﬁﬂuﬂmmh
(2} pn¥fY % vl =t mofim o = 2
(EVIE B R —

)ﬁ/:-nﬁﬁ#mvnlmﬁamaﬁwﬂnm
|

18, ﬁaﬂmmﬁﬁ#ﬁmﬁﬁﬂawﬁﬁhﬂam
B W5 # 0 wen s fen @ w4

18.

17.

18.

o

In the circuit shown in the figure, the inpy
voltage V; iz 20 V, Vpg = 0 and Viog = 0. Th,
values of Iy, I, and fi are given by
20V i
R % 4k
C
Rp @ .
Vi e— W
oka P\,

E
(1) Ig=40pA, Io=10 mA, B =250
2} Ig=20pA, In=5mA, =250
(3) Iy=265pA, Io=5mA, p=200
4) Ip=40pA, Io=5mA, f=125
In a p-n junction diode, change in temperatun
due to heating
(1} affects only reverse resistance
(2} does not affect resistance of p-n junetion
{3)  affects only forward resistance :
‘4) affects the overall V — T characteristics

, P-n junction

In the combination of the fellowing gates

output Y can be written in torms of inputs A a
B as '

A Aw
Hoe - B
Y
Y
(1) .B (1) A.B
2} A.B+A.B 2) A.B+A.B i
3 A.B+A.B @ A.B+A.B
4 A+B 4) A+B
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19.

20

21.

Unpolarised light is incident from air on a plane
surface of a material of refractive index 'y’ At a
particular angle of incidence 7', it is found that
the reflected refracted  rays  are
perpendicular to each other. Which of the
following options is correct for this situation 7

(1)

and

Reflected light is polarised with its electric
vector parallel to the plane of incidence
r
@) i=gint l}
1
Reflected light is polarised with its electric

vector perpendicular to the plane of
incidence

el
T

In Young's double slit experiment the separation
d between the slits is 2 mm, the wavelength & of
the Tight used is 5896 A and distance I between
the sereen and slits is 100 cm. It is found that the
angular width of the fringes iz 0-20°. To increass
the fmnge angular width to O-21° (with game A
and I the separation between the slits needs to

be changed to

i3}

4

(1} 1-5mm
(2) 2-1 mm
(3) - 1-9mm
{4) 1'7Tmm

An astronomical refracting telescope will have
large angular magmification and high angular

(1) e g af wE w9 R resolution, when it has an objective lens of
(2)  iEE gt wfis o = 9 d (1} small focal length and large diameter
@) T @-m oft =5 ot @ (2) large focal length and large diameter
{3} large focal length and small diameter
(4) wrea gl sl =w O R o _
{4) small focal length and small diameter
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ﬁﬂﬁﬁﬁ!@mmﬁmmmﬁqﬁmﬁ
WG, 9w o R omn B, fed g e
= Trad W gl e g witem e a aw
# 1 27°C w% T W o H e 20 om R
T8 em TR W & FE W I B9 # | T =i
fors 1 amgfy 920 Hz , F g & @R W 27C W
an g

(1) 330 m/s

(2) 360 m/s

(3) 339 m/s

(4) 300 mis

=i} HieE U = A v v ek
W A e H ol g w S s =
wWE e R A m B g W ek e W
T 20 mis® | GeR W sdEE A

(1) 2ns |

(2) 2=

3 mns

(4] 1s

 wEw Q ¥ TR fgw weew v wwim © B

B A ST I 1 aii & dre Bndg e
(1) uigws & i i g ow okl won
(@) mﬂ&?ﬂﬁ”#ﬁﬁ@#ﬁ#ﬁ#w
| :
(3) uffadt & d 6 gl Yeww s
Lid
(4) g & dra 6 gl & sgrEaInE Em R |

wri sy Romeen @ R oeeeE T FWOH
watuy fom-m B 7 & nd gl b, e 2 ) o
s w1 ofre swfafla T wowwEr R
TR W A o R | Rl S W R @
Tt ot gl b e geE e R o il
i firt § fim o wwe it gen § wegl gm o A
Torm = w

(1} w1

(2) 107M wiuw

(3) 51 s

(4) ®UR

A tuning fork is used to produce resonance in ;
glass tube. The length of the air column in  this
tube can be adjusted by a variable piston. A
reom temperature of 27°C two suctessiv
resonances are produced at 20 cm and T3 em of

column length, If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°Cis

(1) 330 m/s
(2) 350m's
(3 339 m's.
(4) 300 m's

A pendulum is hung from the roof of s
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 mfs* at a distance of 5 m from the mean
position. The time peried of oscillation is

(1) 2ns
(2) 2=
(3] =na
4 1s

The electrostatic force between the metal plates

of an isclated parallel plate capacitor C having a

charge Q) and area A iz

{1} independent of the distance between the
plates,

(2} proportional to the sguare root of the
distance between the plates.

(3} linearly proportional to the distance
between the plates.

(4} inversely proportional to the distance
between the plates.

An electron falle from rest through a wvertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field iz now reversed, keeping its magnitude the
same, A proton is allowed to fall from rest in it
through the same vertical distance h, The time of
fall of the electron, in comparison to the time of
fall of the proton iz

(1) smaller

{2) 10 times greater
{3) 5 times greater
(4) equal

ALHCAMWW Page &

T % o T8 e / SPACE FOR ROUGH WORK

HindUEnglish:

Scanned by CamScanner



/’ﬁ/} 2:5

28, T I T G N T WA ARG S & T

% W s A s i w6 G
A, B 31 C W nffvw 3l s Ky, K of Ko § |
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A S o

(1} Kj.l-:EBq:Kc
(2) Ky<Ky<Kgq
}'} K-‘L:"KB:"KE
(4] K=Ky > Ko

e i o e v

THERE i w4 (K, F meaw goff 1w

(K MRt 2 | 18 5 R K, @ (K, + K) = 9
fay

@3y 5:7

WL

T FY W YA e OTE R | §E e W e s
e o fem § gfg & owd @) i R
ffifiaa d & .t Wifiw ofa fEw i 2

(1) i &

(@) il v i

(3) g

(4) hivi wEn

aﬁqﬁmm%gﬂﬁramaﬁmm
frrrs wfm 6 10 0 @, @ Frefafea d @ s
wE AT R Y

(1) adi i 43 ult woafies #oft @ )

(2) 9o W wE e W AT A A
(3) urdl w Fen wiftes wfEm B oA o

(4) geft w6 w ot Tl

L
) 7:10 _,B—‘}{.t B
(@) 10:7 J{‘{\E‘ﬁk{ /
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26,

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
Ky Kg and Ep, respectively. AC is the major
axia and SB is perpendicular to AC at the
position of the Sun 5 as shown in the figure.
Then

(1) K,<Kg<Kg
(2} Kp<Ky<HKg
@ Ky>EKz>Kg
4) Kp>K,>EKq

. . A solid sphere is in rolling motion. In rolling

motion a body possesses translational kinetie
energy (K;) as well as rotational kinetic energy

(K.) gimultaneously. The ratio K, : (K; + K for

the sphere is
{1} 7:10
{2) 10:7
{31 6:7
{40 2:5

A solid sphere is rotating freely about its
symmetry axis in free space. The radivz of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain congtant for the sphere 7

{1} Angular velocity

(2} Rotaticnal kinetic energy
{3) Moment of inertia

(4) Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is no# correct ?

(1) Raindrops will fall faster.

(2) Time period of a simple pendulum on the
Earth would decrease.

(3] Walking on the ground would become more
difficult.

(4) ‘g on the Earth will not change.
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30,

31.

a2,

ﬁif&?ﬁﬂmﬁﬂﬂmﬁﬂq!ﬁmﬁm
Frgads B % moms i frt o amrer 8 70
M Y ik rmm i e qFE F
FOW TR AN 0 W 6 ms W owm & | 3 &
frmd f fem T = A FA B oW A
iR R S dee R el w2 0
3 Herg % W= fadn w0 % oftag 3 s o
e o B

(1) 2mfs 4mbs

(2) 1m's, 3-5m's

(3) 1mfs, 3mis

(4) 1'5mf, 3ms

oA W 8 % Rt fawd s 3w ABC W om
TEIHT W HIE wein Remem fe 8o dw ) enl
HIT w1 w0 a fEm W # ) e = 39w fen
T % i a 3 0% i deig m :

(2) amgeosh
g
9 a=
@ &=
4] a=gtani
—p
g (2,0, - WEHE T F =41 + 5] - 6k &

firg (2, - 2, - 2) % wfm: ameed &

A A A
(1) —8i-4j -7k

r.5 A Ay
(2) =7i—-8j—-4k
A A A
(3) —4i-j -8k

@ -77-4] -8k

femit B 3 ey &1 =y g % ww H AN 0001 em
seTE 4@ EE W g | g e A
5 mm 3 Fefts dart W wp wed wER A 25 W
FH } | aft B A § s 37 - 0004 em R, 91 7
T WE =H B

(1) 0521 em (1) 0-521cm |
{2} 53 em I,'E]' 0-053 cm

(3) 0525 cm 3y 0525 em '

i4) 0528 em 4} 0-528 cm -

a1.

33.

'1

30. A toy car with charge q moves on a frictionleg,

horizontal plane surface under the influence of
uniform electric field E . Due to the force qE

its velocity increases from 0 to 6 m's in ope

second duration. At that instant the direction of
the field is reversed. The car continues to Move
for two more seconds under the influence of thig
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are
reapectively

(1) 2mfs, 4mf

2) 1m's, 365 m's

(3 1mis, 3mi

{4} 16mfE Imb e

A bloek of mass m is placed on a smooth inclined
wedge ABC of inclination © as shown in “jE
figure. The wedge is given an acceleration “g
towards the right. The relation between a and @
for the block to remain stationary on the wedge

is |

i1y a=

(2) awgcosd

p g

3 =

bH. A sinf

(4) a=gtand Z i Sy i
The moment of the force, F = 41 + 5j — 6k at
{2, 0, - 3}, about the point (2, — 2, — 2), is given by

"
-8 -4] -7k
A A
{2 -Ti-8Bj-4k
M * A
(8) -4i-§~BE

)
2

s L3 i
4) -Ti-4j -8k ¢
A student measured the diameter of a small steel
ball using a screw gauge of least count
0001 cm. The main scale reading is 5 mm and
zero of circular seale division coincides with
95 divizsionz above the reference level. If screWw
gauge has a zero error of — 0-004 cm, the correc
diameter of the ball is

¥
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FIH HE w0
(1) We>Wg>w,

BT Wy > Wy W, h

36.

(4) WA}WC:.\WB
PHENHE m W UE it e, dmoremm & e
ot fln s d dug w2 ) Ay b o
TH Fm s d e T b ) oR e o W
Hﬂﬁﬁﬂiﬂﬂvi,ﬁ!mgﬂiﬁ[g]mmﬂm
(1) 058

2y 08

(31 025

(4) 04

rivm A Twin sgem b ¥ wiwies 1w % aEfm
Fmm s & wrst aven i fve, =W AB = D W%
Feam g9 - 0w & @ e bt

35,

a1.

Which one of the
incorrect 7

(1} Rolling friction is smaller than sliding
friction.

Frictional force opposes the relative motion,
Limiting value of static fliction is directly
proportional to normal reaction,
Coefficient of sliding friction
dimensions of length.

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed w about their own
symmetry axes, The amounts of work (W)
required to bring them to rest, would satisfy the .
relation

{Ei' w.ﬁ. - WE b | WC

4 W,>Wp>Wg

A moving block having mass m, collides with
another stationary bhlock having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restibution (&) will be
1y 05

2y 08

3y 025

4] 4 e

following statements is

(2}
3

(4) has

A body initially at rest and sliding along a
frictionless track from a height h {as shown in
the fgure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B
1‘ ' *‘ B
3 i A
%D 3
3 (1 2I:.*
p z
B (2) z D
D (3 D
B y =
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A e e o ol g % s W
# | wEet o A sweEr W dEee A ol gE A
ST W OAeE 3A @ ) AR 9w Fowm
Tt A ) et § Al 5 9 3, A R W
e d e A gl s & B e o @
WA it 7

(1) 9F

(2) 4F

(3) 8F

4 F

HEFT 4 (1013 « 10° Nm2) sl 100°C a9 @
01 g 98 & T 1 100°C 6wy # ofefs w01 %
fere 54 it sam ot & smaww 9 2 | AR
IR N F AW 1671 ec B, @ W AR @
Hr=E w1 8 it A

(1) 104:3J

(2) 422J

(3 2087J

(4) B45J

et i g it wfe P 4 war T woe,
g T owlirEm wal Bt sl 2 am R m

Fom T e viEt w b, e
ganmﬁmmmﬁmma,ﬁ

vk g fafsim v P8 I & 1 oW oE A

(1) -
4

256

(2) R

3]

= -

a1

4 e
“ 256

1. T ' w1 w g viven T @ frd v 2m A

e & | vm wm & S0 vm e R R
Tﬁﬁ#&ﬁn{dﬁm}ﬁnmmmiﬁm

yﬂﬂﬁﬁaﬁwﬂ?ﬁiy
rﬂ

(2 f° m ¥

@ (2

: .
ALHCAMWW Paga 12

e
i
i
|

38, Two wires are made of the same material “ﬂ'

39.

40,

41.

have the same volume. The first wire by
cross-sectional area A and the second wire
cross-sectional area 3A. If the length of the firy
wire is increased by Al on applying a force ¥
how much force is needed to stretch the secong
wire by the same amount ?

(1) 8F

@ 4F

3y 8F '

4 F

A sample of 0-1 g of water at 100°C and norma]
prezsure (14013 x 10° Nm™) requires 54 cal o
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 1671 cc, the
change in internal energy of the sample, is

(1) 104-3J

(2) 4224

(3) 20874

(4) 84-5J

The power radiated by a black body is P and it
radiates maximum energy at wavelength, L. If
the temperature of the black body is now

changed so that it radiates maximum energy at

3
wavelength i Ap. the power radiated by it
becomes nP, The value of n is

3

]_ il

M 3
056

2 et

@ 2

@3 1 :
: |
B1 |

4 rErdzrh

“ 256 |

"“. small sphere of radius ‘¢ falls from rest in a
viecous liquid. As a result, heat is produced du
to viscous force. The rate of production of
when the sphere attaine its terminal veloeity, 18
proportional to
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42,

W — A
RS A Vo= Vo (Vg > 0) oz m
A R R fds B oo g
(Eg = TR0 > 0) % ¢ = 0 wo witw s 2 1 42 o

42,

\P Yy

An electron of mass m with an initial velocity

-
v Evﬂ

F w-Eyl (Eg= constant >0 at t =0, If Agis

A -
i (Wy>0) enters an electric field

§ T W i Aled wided 0, 4, M owwe | its de-Broglie wavelength initially, then its
T 2T wee g de-Broglie wavelength at time £ is
(1) _3'“_ﬂE_H i Lg
[1 t 'E—ut] [1+ ﬂt]
m"i,"'ﬂ _m‘ru
i kgt @ At
E el
(3) ] 0. €Bg
10[ i t] (3) }'“[“mv{. ]
(4 Ag (4) < g
43, For a radicactive material, halflife is
43. ﬁ#ﬁﬁaﬁ v b 10 e @ RIS TH0 8l there are 600 number of
b miﬂ'ﬁ’ Al 450 AR 51 nuelei, the time taken (in minutes) for the
Torfen €14 & = aren s (fee ) 2 disintegration of 450 nuelei is
OE e -
" 10 t}‘rw (3 10
4) 15 H . = Lﬂ[} (4) 15
2 \ . -
TR T i et w@wh A 44, The ratio of kinetic energy to the total energy of
e el ;ﬁﬂ:ﬁ ;T i an electron in a Bohr orbit of the hydrogen atom,
o ¥ s i e I8
@ 1:1 (M 1:1
2y 2:=1 My 2:=1
(3) 1:-1 () 1:i=1
(4) 1:-2 4 1:-2
45, el v & gm W AN 2o (T oy %"F“ 45. When the light of frequency Zv, (where v, is
S &) 1w SO O 8, A I g threshold frequency), is incident on a metal
1 Firwas 3 vy 1= mﬁ'ﬂﬁﬁﬁﬂﬁﬂﬁﬁ plate, the maximum velocity of electrons emitted
'ﬂﬁﬂmﬂlﬁxﬂﬁmﬁﬁ‘ﬂﬁﬁﬁfﬁﬁﬁﬁﬁ is v;. When the frequency of the incident
mm i a3 Mﬂﬂ radiation iz increased to 5w, the maximum
3 . velocity of electrons emitted from the same plate
3 is vg. The ratio of vy to vy is
1) 1:2 r\ 1) 1:2
(2) 4:1 1« oy 4l
W7 1aa 3 1:4
X (4), 2:1 4] 2:1
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46,

Frefifan 8 & i sfwes 0 wsifes swha
v b o '
(1) MgO:
r Bao!
(3]  Bel”
i4] Gaﬂ:f\

47. &ﬁﬁmqﬁﬁﬁqﬂﬁiﬁqﬁﬁmt

{1). ;ﬁ?ﬁﬁﬁ:ﬂlquu-ﬁﬂm1—;ﬁﬁm

(2) UFERERS § 1< 4 osvE T 136 gy 2

ﬁﬁ?‘i‘l’ﬂﬁl—}d a9 AG 1 § e @
(4)  firsi TepEr A e

48. 23 gmﬂ’ﬁmmamea-sgaqmmmﬁmﬁ

Hy80; 8 fien w0 m arafin i S v Kol

%ﬁigﬂ:ﬁﬁﬁﬁmmﬁlﬂPﬁﬂmm

T W (g §) Fm
(1) 14
(2) 248
@ 30
(4) 44

49. ol =g rwen wom ape % v i Fefie i

B FHA W e § 7

(1) ¥ fifim WHm ams Swewd § de
HEEATHE =Y 7 E

L ¥ v femin gwh sqE |

(3)  Birrs @ fifres oE & o 4
T B |

(4) muﬁﬁmﬁﬁmmm
| .

50. e w1 Andwe wEw e wem § owa o

e ATERERA Wit e 3 wiif
() w1 wieaf & e e e w
Fan m-fFaf o d T w

2) viamw sfeafs &
m-ﬁlfﬂﬂ'{irﬁllﬂl mm{;m

Y e sfma sfifen
/m-ﬁamﬁtl mm

(4) ansfm (wwe) mem o Wiy
EEER GiRY e ks

46.

47.

49,

Which of the following oxides is most acidie ip
nature 7

(1} MgO
(2) BaD
id) Bel
i4) CaD

The difference between amylose and amylopectin

15

(1) Amylopectin have 1-+4 a-linkage and
1 -+ 6 -linkage |

(2) Amylopectin have 1 — 4 o-linkage and
1 -+ 6 [i-linkage

(3)  Amylose have
1 -+ 6 Blinkage

(4) Amylose iz made up of glucose and
galactoze

1—34 clinkage and

A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with eonc. HoSO,. The evolved
gaseous mixture is passed through KOH pellets.

Weight (in g} of the remaining product at STP
will he

{1 14
(2) 28
(3 a0
4) 44

Rap{a:-dmg crose-linked or network polymers,

which of the following statements is incorrect 7

(1) Thul_r contain  covalent bonds  between
vaneus linear polymer chains,

(2) Examples are bakelite and melamine,

(3)  They are formed from bi- and tri-functional
monomers,

(4) They contain strong covalent bonds in their
polymer chains,

Nitration of aniline in strong acidi i
] 4 . i medium also
grves m-nitroaniline because
(1} In spite of substituents nitro
group alw
goes to only m-position. o
(2) In absence of substituents nitra
always goes te m-position. sy

(3] In electrophilic substitution
amino group is meta directive,

(4)  In acidic (strong) medium aniline is present
a8 aniliniom ion,

reactions
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51. i A # it :
PCl; & mr:ﬁ; T EE B 3 & 7|51 The compound A on treatment with Na gives B,
ﬁﬁﬁ FTAH R CImE | B C and with PCl; gives C. B and C react together to
bl | FEH T i dam w give diethyl ether. A, B and C are in the order
Ll B A BN Qw3 5 —_— :
(1) C,HgOH, CgHg, CoH Ll

1) C,H.OH
alip 3 C‘zliﬂq Gzﬂﬁl'_':l (2} EEIIEE]‘ EgHﬂ: EEHGDH

1,0l

- (4) CgHLOH, CgH;ONa, C:HyCl
':4} EEHEGH:! CEH-.SGHE, EEH,EE].

52. Hydrocarbon (A) reacts with bromine by
ituti Ikyl bromide which by
B2 TR (A) Wi A s g s | | upetitution to form an 2%yl Brom

e ﬁ'rq‘rq‘g AR Wurtz reaction is converted to gaseous
-tﬁ ﬁ'ﬂ'i P Tﬁ? Ll h:.:lrm:a:'nm :ﬂntaihing less than four carbon
i wegwEE § aiafl g 2 A

i f5 =m & w3 atoms. (A is
e oy A R

(M3 (1) CH=CH

| (1} CH=CH € B Ul

| (2) CHy;-CH, il

| _r cmgecn, Chy = W (3) CHy=CHy

I o CH, {4) CHy

53. U 41 C‘IHEﬁqﬁﬂfhﬁ m:ﬁq # At 63. The compound C-Hy undergoes the following

| Esmﬂ‘r‘:‘;hm:'"Fﬂ_BEnFHEl:E ruan:h:;:;;aﬂlg#%ABrEFFnhBEn!HC!_C
e O R The product 'C’ is

i ﬁ m- R i1} m-bromotdluens |

| (2) 32,4 ,6-FHEREIH (2} 3-bromo-2,4 6-trichloretoluene |
(3) oA (3)  o-bromotoluene
(4) p-wEmEREIEEA {4) p-bromotoluens

4. Which oxide of nitrogen is nel a common

54. ﬁTﬂﬂlﬁﬁ ﬁﬁ'“ﬁ A B 31 & i : pollutant introduced into the atmosphere both

& A E & :ﬁ‘fﬁ : due to natural and human activity ?
J/Nzﬂﬂ (1) Ny0;

L) Nzﬂ (2) Nzn |
(3) NOy {3) NO, i
. No (4) NO
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B5. Xy, Yy 3l XY Fi wmn ften saiel w1 g
1:05:1 & | xy % fam @ wied
AH = — 200 kJ mol™! & | X, ) sy fadem 54

Al ”
/mfﬂﬂﬂmmﬂ“’ “?{"L\Irl H-F&Y

(2) 800 kJ mol™ % 0.5 ‘,.

23]

100 kJ mol™? D
(4) 400 kJ mol! ‘{5'(3153
{_.l"
ﬁaﬁmﬁmﬁmﬁrﬂmﬁmm%,
ﬁ?ﬁﬂﬁﬁﬁrﬁm%fﬁqm%m
(1) mn s &
@ fopm e & *&J&
B T A
(4)  smimfia ey 2
67. wwd fm wdiehn i wivm s v w3
(1) 7% s % w9m 3
(2) g s ey afi b @
81" Hm s % s @
(4) B\ A F o smedw o= @
58, tsiem sl
. MnO; +Cy05 + H* —— Mn* + CO, + H,;0

%hﬂ,ﬁgﬁmm%ﬁqmtaﬁm
#

. HI#"'I- —!'*-¥l

MnO; C,0}~ H'
5
18
5
16

(1) 16
(2) -2
Ve

4 B

2
B
16
2

59. ﬂﬁhﬁﬁﬂrﬁrﬁaﬁﬂaﬂm—mmmﬁmm

56.

7.

Fintn ¥ fire seeh 8,
Aplgl + By g = Xpg) AH=-Xkj?
= M v =

(2) 7= M v T W

(3 P am v fes e

(4) 7= W vE fe e

ALHCAMWWI/Pags 18

54,

The bond dissociation energies of Xo, Yy and Xy
are in the ratio of 1: 05 : 1. AH for the formatig,
of XY is — 200 kJ mol™", The bond dissociatip,
energy of X, will be

(1) 200 kJ mol™

(2) 800 ki mol™

(3) 100 kJ mol™

(4) 400 kd mol ™

When initial concentration of the reactant i3
doubled, the half-life period of a zero order
reaction

(1) iz halved

(2) s tripled

(3) is doubled

{(4) remains unchanged

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) density of the gas molecules

(2) electric field present between the gas
molecules

volume of the gas molecules

forces of atiraction between
malecules

3]

(4] the gas

For the redox reaction

MnOy + €0~ + H'— Mo + €O, + H,0

the correct coefficients of the reactants for the

balanced equation are
MaO7  C0f- W
1y 168 b o
2) 2 16 5
(3) 2 & 16
4) & 15 ]

Which one of the following conditions will favour

maximum formation of the i
sy produet in the

A (gl + Byl = Xa ) AHa-XkI? -
Low temperature and high pressure
High temperature and high pressure

Low temperature and low pPressure
High temperature and low pressure

(1)
(2)
(3}
43
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g0, 3 R M ww §, S B e s &

wiads fafts B, 99 o) W1 W i

_ 182V :
BrOy —— Br0; “'» HB:O

Br «— = |
10852V % “T585 v
FAH T s & e o
(1) BrO; '

M Br,

@) BrOy

i4) HBrO

61. CaHy, BeH,, BaH, i smfiw wpfi %1 }

A1 BeHy < CaHy < BaH,
(2) BeH, < BaH, < CaH,
(8) CaH, < BeH, < Bal,
(4) BaH, < BeHy < CaH,

g2, Tom el & we W sl < wEn e A

(1) 18 mL ¥ # fom
1 atm T8 273 KW 0-00224 L 9% 4 F fm

(1) 018 g ¥ & fon

4y 10°3dE = F R |
mﬁrﬁﬁﬁfﬁuﬂi‘rﬁ sifafEmat & wdt Fft &
wan wiE € affE & A A @

(1)
uﬁmﬁmﬁﬁaﬂ,ﬂﬁmﬁhﬁﬁ“ﬂﬁﬂ
mﬁﬁmm%ﬂmﬁﬁﬁﬁaﬁmﬁmﬁﬂt

Al B

Congider the change in oxidation state of
Bromine corresponding to different emf values as
ghown in the diagram below :

BrOj 182V, pon 15V, mBo

B *TogszVv O 1585V

Then the species undergoing dizproportionation
5

(1) BrO3

{2) Bry

(3) BrOy

(41 HBrD

Among CaHg, BeHgz BaH,, the order of onic
character is

(1) Bell, < CaHy < BaHy

(2). BeH,<BaHy < CaHy

(3) CaHj < BeHp < BaHy

':l] B&H2 £ BEHE < ﬂﬂHg

In which case is the number of molecules of water -
maximum 7

{1) 18 mL of water

(3) 000224 L of water vapours at 1 atm and

. 2K
i3} 018 g of water

) 107 mol of water

The correct difference between first- and
second-order reactions is that

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate

@ e iR B i @ ok R T f d-order reaction does depend

of a second-arder rea 5 nd on
i;ﬂﬁmﬁmﬁmmmm reactant coneentrations

wl (2] a first-order reaction can be catalyzed; a

ﬁ‘a g Ff & s 6 -y [Aly ™ Frke second-order reaction cannot be catalyzed
1 3, fefra Wiz it firn 6 sy (Al (3} the half-life of a first-order reaction does not
o Enit & depend on [Ali the halflife of a

SR 6 s ., £ second-order reaction does depend on [Alg
W E:r;aﬁ ﬁﬁtﬁmﬂqﬁﬁﬂﬂﬁﬁ?ﬂaﬁﬁﬂl (4) the rate of a first-order reaction does
» 2 r fft depend on reactant concentrations; the rate
w1 dn wfiwn € TEAA T T of & second-grder reaction does not depend

B on reactant concentrations
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4. Frsfirfian % 7 shias % -1 w9@ & wgd °

LW Wk 7 (R =)

T -NHy <-OR<=-F

(2) -NH; >-0OR>-F
(9 -~NBy<-OR<-F
(4) -NR;>-0OR>-F

Fferfim # & fom oy and @ o % v

8p°, 8p°, ap, sp T =t = 2 2

(1) HC=C-C=CH )&
@) EHQEET{-EE=<8§12
(4 GHE—EH-BH—EHEX

66. Fefafmm 1 4 SR Fewe wmits

sttt & 7
NO, t
4e AN
Y H
NO,
(@) H,@
¥ oy
N0y
(3 @
Y H
NO,

64,

6.

Which of the following is correct with respect
- [ effect of the substituents 7 (R = alkyl)

(1) -NHyg<-OR<-F
(2) -NH;»>-OR>-F
(3) -NRy<-OR<—F
(4) -NRy>-OR>-F |

Which of the following molecules represents th
order of hybridisation spi, spﬂ, ap, sp from left 4
right atoms ?

{1l HC=C-C=CH

(2) CHy=CH-CH=CH,
(3) CHy=CH-C=CH
(4) CHy-CH=CH-CH,

Which of the following carbocations is expected t
be most atable 7

NOy,

2]

Y H

NO,

. HQ
Y

NO,

% @

Y H

i i ——— -

x Nﬂg

H
@ oy

UF %74 % for v ) sPACE FoR ROUGH WORK
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AufEm
mmthﬁmmmﬁﬂmﬁm

mmlﬁ o
HIT 4F § 25 2p" &, A w T

(1) Mg,X,

(2) MgyX WR 15‘_ %ﬁh‘{:‘\v
(3 MgX, TN:\ .

" MggX, ]

B8. R F T A W bee Fr A 2 | 000°C F
T AR fec B & fiafls @ w9 B | oneE § w0

a;;wm S e oy &g g
T R SR ZEEE 1 fr=m w9
% my fem §) i

ﬂ'—'
3 Q,
@ 8 Y
L
() ;_:‘E, ’@/
(4). %

1s*

[t4

t 4

[t4]

(3] ” : _
ﬁmﬁwﬁﬂﬂaﬁmmﬁﬂ
A

(4) dzz#ﬁﬂmﬂmﬂfﬂil

70. ﬁﬂlmﬂ'!ﬂ?ﬂﬁﬂﬂﬁmz

CN*, CN~, NO 7@ CN

e o

tﬁﬂﬁmmﬁwﬁﬁﬁﬁ!iﬂﬁ ;

67.

T0.

{4y

Magmesium reacts with an element {X) to form &0
sonic compound. If the ground state electronic
configuration of (X is 1s* 25” 2p°, the simplest
formula for this compound is

(1) MgsXs

(2} MgX

(3) MgX;

(4) MggXa

fron exhibits bee structure at reom temperature.
Above 900°C, it transforms ta fee structure. The

ratio of density of iron ai room temperature to

that at 900°C {assuming molar mass and atomic
cadii of iron remaing constant with temperature)

18

(1) “:.%
o 3
o 48
(4) é

Which one is a wrong statement 7
{1} Total orbital angular momentum of electron
. in ‘" orhital is equal to zero.

(2) The electronic configuration of N atom is
15 2¢% 2p} 2"'; 2p;

ty 1ty et

An orhital is designated by three quantuim
numbers while an electron in an atom ia
designated by four quantum numbers.

The value of m for diz i8 zern.

{3)

Consider the following spcies :

CN*, CN”, NO and CN
Which one of these will have the highest bond

= # fpefl HWW order ?
NO (1) NO
(2) CN’ {z) CN*
(33 CN~ (3y CN
(4) CN (4y CN
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f’ﬁ%ﬁmﬁmﬁmﬂﬁmmmmﬁf

7

1} = vt wifia steft e R B

(2) TR % e wmh uEe SR
ST T |

(31wl wishems afiwds £

gr Wi ) i geet v wded 2

T W W ww v g e 4 3

wd Wy W g G & aem o

gFEaE?

(1) Fe

(2) Mg

W o

{4) Cu

forietfian # @ qm 18 % ww § s e
I A A R T

yﬂ{ﬁlfln-ﬂﬂ-ﬂ{'ﬂ

(2) BeGa<Al=Tleln

(3) B<Al<Ga<In<TI

4 Bz<Ga<Al<In<Tl

CIF, # waa § = wom] ClL W w0
welwlAT i HE

T2,

3.

74.

(1) w= ,,11"1::
(2) =W ‘et
2 \

”g:fﬁn o

ns. N # b atfwdie sEens w1 OuEE R
LEA R s A "l“\

(1) HNOg,NO, Ny, NH,C1 Y N %f‘
_FF +HNO, NH,CLNO, N N

3 HNO, NO,NH,CL, K, Ay
(4) NH(CI, Ny, NO, HNO; &

T4.

4.

[

Tl.

Which of the following statements is not true for

halogens ? _
{1 E:“:".Iillfq:-ﬂ:r! mnnqhasir: m:;aﬂds.l . >
(2) -All but fluorine show positive omdation
states.

All are oxidizing agents.

Chlorine has the hlgh
enthalpy.

Considering Ellingh
following metals can
(1} Fe
() Mg
(3} Zn
(4} Cu

(3)

est electron-gain
(4}

am diagram, which of the
he used to reduce alumina ?

The correct order of atomic radii in group 13
glements is

(1} BeAl<ln<Ga<Tl

(1) BeGa<Al<Tl<In

() Bc<Al<Ga<In<Tl

4y B<Ga<Al<In<Tl

In the structure of CIF;, the number of lone pairs
of electrons on central atom ‘ClL is

(1) one
{2} four
(3] two
i4) three

The correét order of N-compounds in its
decreasing order of oxidation states is

(1) HNOg, NO, Ny, NH,Cl
(2) HNO,, NH,CI, NO, N,
(3) HNOg, NO, NH,Cl, N,
(4) NH,CL Ny, NO, HNO,

16, Fefafen § @ #hw m MF,T @ o § 0. Which e of the following elements is unable to
form MF:™ ion ? !
el # 7 0 £ !
M Ga NE | 0 e |
@ B o @ B |
Al (3) Al !
J) In (4) In
ALHCAMWW/Page 20 T T % o1 TR | SPACE FOR ROUGH WORK

HindlEngiish

Scanned by CamScanner



77, ¥ sl

g ON
a-i-
@ +CHCly + NaOH — @CHU-
H i st &
i
(1) TR (RO

78 RGOS A % T
THEEd FE A
T Uesedl, dE am w5 e A
e B # | e s o m g

(1) ¥ ivas pgied oue 5 &

(2y  wrEtaefs s 5 it =R TUE FFE
aren s Wl % gr we d

(9} i e & R
)ﬂ/ ST EEeEA S & &

79, U A & A, CgHy0 I NaOI (¥ i afilm
. NaOH ﬂﬁmw]ﬁaﬁﬁwmm

vy ‘aven den SEEE & # |
haﬂ'{"fiﬂﬂ:ﬁ

@ He—{ - cHy -0,
Y @-?ﬂ _CH, # 1,
OH

@ ¢ )-cH,-CHy-OH il
Ha

C
) ﬂﬂa—d'ﬂﬂmlz

7.

In the reaction
OH O Nat

@ + CHCly + NaOH —— @'EHG

the electrophile involved is
&
(1) dichloromethy! cation { (‘HClz)

=]
dichloromethy] anion (CHCly)

(2)
1]
(3)  formyl cation (CHO ]
(4) dichlorocarbene (:CCl)
Carboxylic acids have higher hoiling points than
aldehydes, ketones and even alcchols of

comparahle molecular mass. It is due to their

(1)
(2)

formation of intramolecular H-bonding

more extensive association of carboxylic
acid via van der Waals force of attraction
formation of carboxylate ion

formation of intermolecular H-bonding

(3}
{4}

Compound A, CaHyg0, is found to react with

NaOl (produced by reacting ¥ with NaOH) and
yields a yellow precipitate with characteristic

gmell.
A and Y are respectively

() Ho~{_ - CHy—OHand
(@) @_—?H-mamxg
OH

(3) @— CHy-CHy-OHand I3

CH,

4) CHy —@ OH and I
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ﬂ“ﬂ ﬁ'ﬁq I
;ﬁ“%%ﬁﬁmnﬁmmm Mat_,:'hthgmg[allﬂmgi?ﬂﬂiﬂcﬂlumnIWEththt
3llq=iil R m 3 spin magnetic moments of the ions given ;
At wa = Fiftw Hify . N ™ GTIunm 11 and assign the correct code : i
Koo g S Column I Column I
i g ) 5
b. o i s b o ii. /35 BM.
o Fed* i, J3 BM e R iii. V3 BM.
d. ¥ W, JEL RN d. N iv. 24 BM.
v fEEM v. 15 B.M.
a b o 4 a b < d
{1.]' i'l.l' w ii. i {l:l i" ¥ :ii i
A v i i @ i i i iii
(2 i i i i @ i i TR
(4)  1id v i 3 i4) il v i il
Bl, v wEiE, Fe(CO), & ﬁlt“ e Bl. Iron carbonyl, Fe(CO)y is
(1)  =Sg=Fdg® : (1} tetranuclear
(2) Pz FE'__ o (2)  trinuclear
@ wmw (9 7\ . i
(4) Fries J,f' be (4) dinuclear
: . B2. The geometry and magnetic behaviour of
;;fa'f aaae Ffify ) wfirgradim (1) square planar geometry and diamagnetic
: N ayaE s Eﬁ_ﬂﬁﬁﬁrﬂ (2)  square planar geometry and paramagnetic
(3) ~iowershiy =it E,H' A {3)  tetrahedral geometry and diamagnetic
(4) =aewerhrE snfifi w sgedm {4]  tetrahedral geometry and paramagnetic
83. TrafafEs § & sm wrm dd g et & 7 | B9 :'rh“h one of the following jons exhibite
oy i S ot 7 - d-d transition and paramagnetism ag well 7
a. 1
(1) crof” b G0y
@) : (2} MnO,
0.
‘/lﬁ‘/‘ﬂrgﬂf @) Cry0y
i
HJ H.'I'lﬂ'f_ f"’l] Hnl]d
84, EE'H EEuEIE{anIEI?.‘m o wEt B4, Tg?:cﬂ?;i]u]r'immm shown by the complex
ECNEGIDRERC e
) (1) Ganlmefrical isomeriam
(4} dvh mwEEE s o
{4) Linkage isomerizm
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[+ @ S

b, S5mp M

By
1g "Gl + 45 ml, T:: NaOH

c M

M
T — .
Smb = HCl+ 25 ], = NaOH

A _I"E i
— 1:"":"11]1..“:I H"[_"'..l-l-1I{I||:|-:|:|:|]_r%".I:i NaOH

“ﬁﬁmﬁpﬂl%mﬁm?
M b
e d
(3 a
(4] e

88. Fefeis 4 4 ¥ha m w wm @ =
Fit aeeft & 2

AT W 5 AT wh w
(2) A% am viem w e g ol w
(3) 9 I F ¥R W

(M) Fam WA & wEw e W
BaS0, it 208 K W 7= i femm 242 « 1079 gL

Following solutions were prepared by mixing
different volumes of NaOH and HCl of different
concentrations ;

a, 60 mL i HC + 40 mL M NaOH
10 10

M . M
b. 5S5mlL T HCI + 45 mL 0 NaOH

¢. TimL % HCI + 25 mL % NaOH

M

M
d 00 mL — HCl + 100 mL — WNaOH
I : 10 i 1y

pH of which one of them will be equal to 17
{1 b

2 d
(31 a
4y e

On which of the following properties does the
coagulating power of an ion depend ?

{1} The magnitude of the charge on the ion
alone i

Both magnitude and sign of the charge on
the ion

Slze of the jon alone
The zign of charge on the ion alone

L2}

53
(4)

1 foemm e (K, ) %1 7 B 87, The solubility of BaS0, in water is
242107 gL' at 298K The value of its
o T # BaSO, F1 W 258EH = 233 ¢ mal L g !
I: - ;-_._.15'_“}_‘1 ) solubility product (K0 will be
__)H/;-EIEL #1072 mal® L (Given molar mass of BaS0, = 233 g mol ™)
(2)  1:08 % 107" mol® L (1) 1-08 3 1079 mei? 12
(3 108x 107" mal®L* (@ 108 x 107 mot? 12
(4)  1-08% 10 mol® L2 (3 108x 107" met* 17
; 4 1- -3 2y =2
a: HHwHE,DEmﬂﬂga‘mwmm 4} 108 % 10 mﬂlLl
woe: 417, 0244, 196 v 3569 fm m # ||88. Given van der Waals constant for NH,, Hy, Oy
Erfafign 4 & Faft fn m=g st @ 2faa f ok and COy are respectively 4-17, 0244, 1-36 and
59 358, which one of the following gases iz most
; 04 easily liquefied ?
NH C
AT NH, oL Yy b w owg
(2} Og j\ﬂ..r \ (2 0Oy
() [I:E N\M ﬁ&: (3) H!ﬂ
(4) €Oy N Iy W o,
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89. Py § A S A R = E
g7

(1) e
(2) W= A=
(3) e

e

/9.

can form 3
Which of the following compounds

gwitterion ?
(1) Aniline
(z) Benzoic acid
(3 Acetanilide
(4) Glycine

d R in the
- : sor products P, @ an
g sfifem #umm s P, @ B\ pdentify the major e
20, mEwl U e | ullowing $equence of reactions :
= YEEIHT :
Anhydrous
fj]d[j AICly
@ +EH3CHECH2{:1 e i @ +'I:H3CHEEH2G] — ’
! (i} Og
(i 0y " o * Qs R
R (i} HaOHA N {it) HyO%/A
P Q R
P Q R
CH,CH,CHy  CHO
(CH;CH,CH; CHO
(1} ~ CHyCHy - OH
(1 CH4CH, - OH ;
CHI(CHj) 0H CH(CHyly OH
- ' CH.CH{OH)CH
(2) @ @ i CHCHIOHICH, (2) @ i @ | Aokly 3
OH,CH,CH CHO  COOH CH,CH,CH; ~ CHO  COOH
3 i
o0 . 0.0
(3 y 3
X CHICH) g
CH(CHy AR oy
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g1, Tr=teiEn wiwsi &
0 T ) TRTErE e |91, What type of ecological pyramid would be

wre o s
? obtained with the following data ?
fedtas 3wt . 120 g ' Sacondary consumer : 120 §
ST I 60 g Primary consumer : 60 g
i IS ;10 . Primary producer : 10 g
: :‘-lawm w1 T it (1) Inverted pyramid of biomass
(2) HeEn w d e (2) Upright pyramid of numbers
(@) == = ftfire i3) Pyramid of energy
(4) Sawmn = i e (4) Upright pyramid of biomass
92, WRfrh dwm wfomir 92, Natality refers to
¥ T (1) Death rate
9y ST i . (27 Number of individuals leaving the hahitat
E]; mﬁwﬁ o (3) B:‘hm*
{4} Number of individuals Enteringla habitat

) v wEm s & S a6 A

g1, Tiva sirm fam wa v @ & 7 93. World (zone Day is celebrated on

i

(1) & (1) 5 June
2) 16 ﬁﬁm?( i2) 16" September
(@ 2w @ 21% April

22 3 (4 22° Agril

@ FHAEE S ﬁm it i g4,  In stratosphere, which of the following elements
mﬁﬁ?ﬁﬁﬁﬁﬁﬁﬁﬂﬁlﬁﬂﬁﬁﬂﬂﬂmﬁ nctauaamtalystindegmdaﬂmufuznnﬁmd

release of molecular oxygen 7

sAm el R
o s - (1) Carbon
(2) Fe
2 Fe @ Cl
(3} Gi (4} Oxygen
f Eﬁ- Niﬂhﬂ i5
95." Fdw T !*T' i (1) all the biological factors in the organism’s
g 5 i HIH environment
() TEAE g THE 1 Hfa B ¥ o (2) t:;;‘rﬂugaﬂftempemmrethatthﬂﬂrgaﬂiﬂm
wifEe: 5 to live
() “mmwﬁ?wa’mﬁlmﬂt () the physical space where an organism lives

4 we dm g R st i, FE TR (4) the functional role played by the arganism

whera it lives

e B
og, el § 7 T fedftas W 27 9§, Which of the following is a secondary pollutant 7
| {1y CO B (13 CO
| ﬁ/ e | i::: ?2
3 Coy g
. 4) Oy 4) Oy
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iR AD® in cellular
@ TR § NAD® w1 vt v @ 7 g7, What is the Tok of N

o regpiration 7
I:'ll:l “ﬁmﬁﬁﬁmm% | It ﬁjﬂﬂﬁﬂﬂﬁasmgnﬂme-

L ; - (1) . thesis. |
(Y T AR, TR % fg o SgfeEEEE 89 It is a nucleotide source for ATF syn I

(2) .
il . - ag dn electron carmer. .
- 3) I functions
(3) 8w Yo g % w0 A W O R h] & i the final lectron acceptar for anaerobie
(4) A sEad w ¥ sl T A I espiration. Y
By og. Oxygenis not p]-ur]uﬂEd dll?‘ing photosyn
88, T wwmEeY § et AT e T . () Green sulphur hacteria
(1) TR a=F sadiem o iheas
"g}" et (3) Nosioc
4)  #m (@) Chero

: ing plants shows a Very
J Which one of the following P ety
99, Frofafs § & s oo s ) os =l & 99 90, s relationship with a Species ? mc aw::hgsi
Frar gy Fapert ff vEEt & o pte its fife cy |

none of the two can compl

A wﬁ e ? the other 7
(1) FEle ¥ (1) Hydrilla:
@) % (2) Banana_
AT g7 (@) Yuceo
4) T 4) Viola )
o which of the following forms is iron abser
100, STl g wE W s Feffen § @ G e d) 100 Ih;.-plams?
el i1} Ferric
1 {2y  Freeelement
ol ki {31 Ferrous
(3) E

{4) Both ferric and farrous
e ol o 2E

101. Which of the following elements is responsible for
101, Frefefam & & W am SiEd 3 o6l maintaining turgor in cells ?

Tt 3 form Imerdt & 7 {1} Magnesium
(1) Bt {21 Potassium
irar et ' (3] Sodium
(3 AT (4% Caleiam
(4) e 102, Double fertilization is
102, e PR R ? L (1} Fusion of two male gametes of a pollen tube
i1 Eﬁﬂmm%iﬁﬂﬂ“ﬂﬂﬂ?ﬁﬁﬁm# with two different egps
Y T ) 2} PFusion of two male gametes with one egg
(2) @M Tﬂﬂﬁ & TH HE F AE HOA (3) Fusion of one male gamete with two polar

(3) ﬂﬂlﬁiﬂﬂgﬂ'ﬂﬁﬁ#mm nuclei
_’m/g:ﬁ e M E L UE] (4} Syngamy and triple fusion

103, W ¥ % WEA # an & F 79 e ¥ FE 108 Pollen grains can be stored for several years if
AT wuEn fEn o w7 liguid nitrogen having a temperature of

(1 - 120°C (1) - 120°C
~196°C (2} - 196°0
(31 - B0°C @) —8re
(4) - 160°C i =l y
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104. The stage during which separation of the paired

J‘?I.‘,;/ TR homologous chromosomes begins is
LR - _ (i7 Pachytene ;
(3) oz 1 (2) Diakinesis
4) Ty ’\4_% (3) Diplotene
; (4) Zygotene '
o & ;
fem Frefifim & H iﬂq,m R 106. Which of the following iz true for nucleolus ?

(1) Fnfam =ife
2) mak Eﬁ 3t § wiRs (1) - Larger nucheoli are present in dividing cells,
P (2) Tt takes part in spindle formation.

@ =g faf
.}M’ £ tﬁﬁ‘%:?rm% I. . {3} Itis a membrane-bound structure. _
: 24 R_H""‘ aemm %1 B o (4) It is a site for active ribosomal RNA

gynthesis.
108. ﬁqﬁ?ﬁﬂ i ¥ $R-m U P TE b0 106, Which among the following is nof a prokaryate 7
(1) & ' (1) Saccharomyces
(2) hefs (2) Nostoc
(3)  ImrwEEf (3)  Mycobacterium
itz (4) Oscillatoria
107, T-ﬁ ) nieiteran e ki 77 Bl 7 107. Stomatal movement i5 noé affected by
j ..,M AT A . i1} Temperature
(2 DE m_l, ﬁ 2y ﬂg concentration
@ wEma @ Light
(4) CO, B & {4} €05 concentration
108, TRB ATy ST E? 108, Stomata in grass leaf are
(1) EEETER {1) Dumhb-bell shaped
%) SRR (2) Rectangular
(3) TR {4} Kidney shaped
: {4) Barrel shaped
109. The two functional groups characteristic of
109, T 3 2 st St wE S E 2 BUgArs are
(1) wrEgiem S A (1) hydroxyl and methyl
2y it o wiehe (2} ecarbonyl and phosphate
(3) _ i af'ﬂ_ﬁﬁ'ﬁ . {3) earbonyl and methyl
FrifE I g {4) carbonyl and hydraxyl
@ [y e faRer Wl w 27 110. The Golgi complex participates in
[ =T v F wI {1) Fatty acid breakdown
(2) e d A (%) Respiration in bacteria
(3) @ Eﬁﬂ'ﬁ & A A {3} Formation of secretory vesicles
(4) e st 5 e (4)  Activation of amino acid
111, Peffas § & SHE s AT $ ¥ | 111, Which of the following is mof a product of light
sfirfEm = 3R TE &7 reaction of photosynthesis 7
{1} ATP
AP O T
(3 NADH (3) NADH
_.’j.tﬂ"" Oxygen (4} Oxygen
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112. "SRl P g senite 4 6 7

112

b;
Offzets are I1‘1"'“":m':‘JE":.l ¥
(1) Meiotic divisions

FUEER g —— @) ParthenocarPy
(2) b g (3 Mitotic division®
4) Parthenogenesis
.l}l' kil e & : ¢ statement :
(4) e 113. Select the cormect =07 Bdthemm“]jnkage”. J
113, &gt s =t g (1) Franklin Etah:;:‘ part in translation.
) n | 5 -Eﬂﬂﬂﬂmﬂ'—g AL,
(1) "o e W P Gehe w3 ;:1 pli ott BqUAE WS developed by a British
(2)  FoegiiEm e § g ik
ariontist.
AT v 7w fufen dmfis g Gsfim fem (&) Transduction was discovered by S. Altman,
bl ; ved helpful in
preserving pollen a3 fossils !
114, Weieigs § @ #hm wm & Foest & = 8 (1) Pollenkitt
i w6 s i g (2) Oil content
(1) wm fee {3) Cellulosic intine
(2) el (4) Sporopollenin
(3) Hgem T s 115. Select the correct match :
wiiEe (1) Alec Jeffrays — Streptococcus
_r
115, #gt F : prieumoniae
Eﬂﬂ g (2) Matthew Meselson = Pisum sativum
ol i - R and F. Stahl
(2)  Heg froew sl vw, T - NEEA HETEEy (3) Alfred Hershey and - TMV
(@) wehrwd dhmuidm - il Martha Chase
_id) s e T e g - &% wrink (4) Francois Jacoh and — Lac operon
116. FL0.0, F et ol = weifs o e Jacques Monod
ot it vy a7 116. Eeli:iEFmem proof for E"”‘imlmenmue'
(1) F=%4 Plication of DNA was first shown in g
(3) ey # @ Plant
' (4}  Virus
7. Feffefi 4§ 8 fl 3w S o § e 117, Which of .
Bl o E g g Life-time ?ﬂm following flowers only once in its
7 wm (2) Mango
(3) e (8)  Jackfruit
() '4)  Papaya
118, Which
118, ch of th - L
ﬁqﬁ*ﬁ‘“ﬁ?fﬁﬂﬂ“ﬂ T W i 4 o matched?  CLOWINE Dairs is  wromgly
AT ey (1) Starch synthegis :
{2} A0 ¥ E‘F'I ﬁ'llhﬂ'[ : ﬁm (2 X0 Lype sex neinpea ; Mmtiplﬂ alleles :
@ ABO T g 17 et determination : Grasshopper
(4 . i - (3} ABO blood gryyp;
& 1 .
-ﬂLHEAWJ'PagE 28 —— 'h’i%m 4) TH M{"Eﬂn ping : Eﬂ—dumim.nce
Hindi/English
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Wiy
| B 119, Winged pollen grains are present in
|III (2)  wm (1) Moustard
I", (3) Hm (2 Mﬂﬂgﬂ
. ) e (3)  Cycas
@ ) 4} Pinus
TR |} o o
% #Eﬂmmq CEn aﬁ@ﬁlﬂ 120. After karyogamy followed by meiosis, spores are
T, ] it g wE R produced exogenously in
A itesi i
@ (1) Neurospora
2) oifeg (2) Agaricus
&Y e (3 Altermarin
{4) #%ﬁgm (4)  Saccharomyces
121. PRl & & 2 L e 121. Which one is wrongly matched 7
(1) T ) ) (1} Uniflagellate gametes - Polysiphonia
@) S ) Tt {2}  Gemma cups - Marchantia
Lﬂ( R (3) Biflagellate zoospores —  Brown algae
i Bl e _11'3 e (4} Unicellular organism - (ChJ
4) wREEER ey - =2
122, w4 122, Match the items given in Column | with those i
mﬁﬁq“hﬁ“‘ﬁmﬂﬁ‘fﬁﬂ,ﬁm*ﬁq Column. TF and select ths eovrent sution whiee
R 33 mﬂ 1t rrect oplion given
Hifam Column I Column I
oy | ] 8. Herbarium i, Itj i
: 15 a place having a
& VW ol e o st Sosmetion af preserved
iﬁﬂ‘ﬁﬂﬁl . plants and animals.
) ) : £y i, Alist
b FR i i mth:;:lﬁnﬁiim
:ﬁﬁﬁlﬁﬁ O R [ i Species fuunFﬂ in Bn areg
el TEER =1 g & fm with brief description
Al i Foy W HE\‘I | aid{ng identification,
c. WEEE i ¥ e e v g ®  Museum i 1sa place where dried and
e o S —— pressed plant specimens
w@amd | mounted on sheets are
| AT kept,
4 v v, wh g b e G| & Catalogue v, A booklet containing a list
{ﬁﬁ_—m] 3 7% fowe B i of characters and their
i it TR = A alternates which are
AEE A | helpful in identification of
" b 2 a various taxa,
SV VI TR s o .
2 i o Wi l 3 i ﬁ
e, 2 i iv i :
ﬂ [T R S nil 3
il . » @) i ii i v
o @ i o i ) il iV i i
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lﬂ-gﬂﬂﬁmmmmmﬂw
?
ﬂs!tﬁﬂfwﬁqm

(2) THRATER

(3) e m
(4) =g fnem

124, o e ol § 7
7
(2 TR T §
(3) TEEE-IEE AEE A
(4) e TR A
125, Tt Rew s A 7
(1)

{2) TEe T3
(3) ﬂ‘ﬂwrﬁﬂ;nfr

BRE

126, Fiefafm & 4 Samem gt 2 ?
# oz aere fifs g wiEg

123,

124

126.

126,

Qagondary xylem and phloem in dicot stem are

pmdumd by

(1) Apical meristems
(2) Phellogen .

(3) Vascular cambium
(4) Axillary meristams

Pneumatophores 0CCur in

{1) Halophytes

(7) Carnivorous plants

(4) Free-floating hydrophytes
i4) Submerged hydrophytes
E-p.rae-tl potato is a modified

(1) Stem

(2] Taprook

@) Adventitious root

(4) Rhizome

Which of the following statements is correct ?

T 7 | (1) Ovules are not enclosed by ovary wall in
o . i ﬁzi:i‘lﬂlﬂ e R, T (2) Horsetails are gymnosparms. :
Y dth w (3) Selaginella is heterosporous, while Safuinid
T FTTTI A ST 15 homosporous. ‘
) . 3 e ol ¥ {4) Stems are usually unbranched iIn hoth
A A " Cycas and Cedrus.
127. Tod wEH w gﬁq : 127. Select the wrong statement. @
(L Tﬁﬁ? W % wen § i (1) Cell wall iz present in members of Fungi
SR ' and Plantae.
@) A § wEm T ok g e e A (2) Pseudopodia are locomotory and feeding
Hr=aTd # | 2t structures in Sporozoans.
(3) DFH W TN W & I?E 3 (3) Mushrooms belong to Basidiomycetes.
(4) A = s Wi A {4) Mitochondria are the powerhouse of the cell
TR, 4 TR § | in all kingdems except Monera,
128, S ofgat el Eft & 7 128. Casparian strips occur in
(L) ¥ (1) Epidermis
2) E'BEEE (2) Cortex
4) {3y Pericyele
(4)  Endodermis
Pa § R Rt gtz ad @ forge o
% ;;ﬂqfq ¢ L 129, Plants having little or no secondary growth are
(1) I'arm (1) Grosses
(2) ATl (2) Conifers
(3) T S (3) Deciduous angiosperms
(4) wgHEH (4) Cwycads .
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130, wﬂmmﬁﬁﬁ'ﬁmﬁﬁq
o, Tl T fd e o e
A faeme ¥ | e i 20
(1) Co-667 |
(2) T
(3) A A
wa-"'imrﬁﬂ
181, W Sl § e, F o g # fam R
Wnﬁaﬁmmﬂm;wgﬁﬁmm
(1) e (vve Tmw)
(Z) AwE
Jﬁrﬁﬂmﬁr’qﬁ
(4) pBR 322
132, b I § R aRRee: w6 F
wai & A A g & e & R wEE § e
HiTEA IO R 7 '
(1) wwdR fdme sEEyR T (ICMR)
(2) ST T R A RCGM)
(3) AP wE st spEuR T, (CSIR)
s st g wiH (GEAC)

138, @t wia = g
(1) AT — i W
I A — TR
(@) Fyxamrd g - fEw wme
(4) . d=A . T

134.nﬁmh-jwmﬁﬂ%m:mmﬁanﬁmﬂm

Fe

wm Y

(1) W.W,aﬂ#ﬁn
(3) e, Faem, R
(4) ﬁﬁﬁﬂ,mﬂm,ﬁmﬂ

135.Wmﬁﬁaﬂcﬁwﬁmﬁ;ﬁrhmm
ﬁﬂhm@h#ﬂmﬂ%mﬂﬂﬁm

130. A ‘new’ variety of rice was patented by a foreign
company, though such variefies Ihave been
present in India for a long time. This 15 related to
(11 Co-667

(2) Lerma Raojo

(3] Sharbati Sonora

i4)

Which of the following is commonly used a5 a
vector for introducing a DNA fragment in human

lymphocytes ?
(1) Retrovirus
(2) A phage
(3) T plasmid
(4) pBR 322

In India, the organisation respnusihlel for
asspssing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICME)

Basmalti

131.

132,

(9] Research  Committee  on Genetic
Manipulation (RCGM)
{3} Councill for Seientific and Industrial
Research (CSIR)
{4) GCenetic Engineering Appraisal Committee
{GEAC)
133. Select the correct match :
(1) Ribozyme - Nucleic acid
(2) T.H Morgan —  Transduction
(3} Fqx Recessive parent - Dihybrid cross
(4)  G.Mendel — Transformation
184. The correct order of steps in Polymerase Chain
Reaction (PCR} is

(1} Extension, Denaturation, Annealing
_f,{-ﬂ' Denaturation, Extension, Annealing
(3) Anmealing, Extension, Denaturation
(4] Demnaturation, Annealing, Extension
Use of hioresources by multinational companies

and organisations without authorisation from the
concerned country and its people is called

135.

o A d 7
(1) . 4.IgE (1) Bio-infringement
(2) WE-ITTHEA (2] Biodegradation
W (% =) (3) Biopiracy
(4) dm-zirem {4} Bioexploitation
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parent jens in the human eye iz held in

tra
196. wHa 33§ wweell Fw s g o) e w TE | 136 Eﬂpimﬁr
bl (1) ligaments attached to the cHE Pﬂd{r
(1) e wE § 33 = g (g) smooth muscles attached the iris
: hed to the irls
(o) wmefm & T et o g (3) ligaments attac * tho cliary iy
(3) s & % TR g0 (4) smooth muscles attached
: 1
% e w3 5 e 3 2 137. Which of the following hormones can play 8
" gignificant role in osteoporosis :
137, Frfafam & @ fem o A e (1) g&nmmnundﬁﬂlaﬂﬁ“hwm
wifie & 7 gy Bstrogen and Parathyroic
A v AR (3 Progestarone and Aldosteron®
(1) TR Lo (4) Parathyroid hormone and Prolactii
(2) wEgA A s AR . o
. 2 t?p ] ith 1ts i
(4 tmoriee FHR o SRS “"'W"M*:“ua e sl
» and cardiovascular
]ﬂ.ﬁnﬁﬁhﬂﬂﬁﬂ?ﬂﬁﬁﬂﬂﬂﬂﬂiﬁ#mﬁﬁ reflexes.
. ; asing hormon
(1) ﬁ'ﬁ?ﬁmﬁﬂ:;ﬁﬁﬂﬂﬂﬁmﬂﬁﬂﬂﬂﬂ r o regulation of
foifan e | ature, :
(7 wEodeEE o G A 1 JeTed W hunger and thirst.
A, @ T i3} Limbic system consists of fibre
frm N | tracts that
interconnect
EIR G . 7 & i 7 mffs & different regions of
faft &9 1 o7E § WA brain; controls
§, wfa =1 Frgwm 540 | movement.
¥ i e :ﬂﬁﬂuﬁﬂﬁlﬂrﬂ (4) Corpus callosum hﬂnd“f'ﬁbi:ﬁmd
ﬂﬁﬁaﬁﬂﬁﬁqﬂ I right cerebral
hemispheres.
| frcifefias # & SR = A
= g7 ! N Lk 139. “']ﬂﬂhﬂfthﬂfnﬂwiﬂsinmaminuadddmiwd
; hormone 7
(1) Epinephrine
(@) wEiEHm _
] {2) Estradiol
" (3) Eed
(4) ufErTE Faone
(4) Estriol
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I T 3 9 \) LE:F(

mRNA =1 wefim 3y
() AGGUAUCGCAL .

(2} ACCUAUGCGAD
3) UGGTUTCGCAT
UCCAVAGCGUA

142, Hﬁllﬁﬂf.ﬂiﬂﬁmmnﬁrqﬁﬂﬁﬂﬂﬁﬁm

#R A oy o et @ g B =

hTC CAT
ypucaT R

140. All of the following are part of an operon excepl

141.

142.

(1} an operator

(2}  an enhancer

(d)  structural genes
') apromoter

AGGTATCGCAT 15 a sequence from the coding
strand of a gene. What will be the correspending
sequence of the transcribed mRNA 7

(1} AGGUAUCGCAU
(2} ACCUAUGCGAU
(3) UGGTUTCGCAT
(4) UCCAUAGCGUA

Match the items given in Column I with these in
Column 11 and select the eorrect option given

M, : helorer "
Columni - Column IT
el w0 11 _
- a, Proliferative Phase i. Breakdown of
A. WHUSYET UEE |, TviYE e @ ae endometrial
lini
b. B wEE i eRm e : e
b. Secretory Phase i Follicular Phase
e o B YR Y ¢,  Menstruation i, Luteal Phase
o b ¢ n b ©
| M’" = = ay W6 i
| i @ § i
| @ i T (P : T
i 7 ‘;.l.r 3y i i iii
| il @ @i W _
143. -ﬂ{fﬁ & # AN o o fifafy fom wwr 143. According to Huge de Vries, the mechanism of
wE R 7 evolution is
| — 2 : _
(1) HEE CIRUELE] {1} Multiple step mutations
(2) AR g7 v it (Eaenrd fiiem) {2) Phenotypic variations
HIFEeA = () Saltation
(4) w9 FfiEe (4} Minor mutations
- . : 144, A woman has an X-linked condition on one of her
T e HEe g | IR A
144. Eﬁ*ﬁx e ! X chromosomes. This chromosome can be
fererl] SweTA E0 7 inherited by
(1) e gl (1) Only daughters
(2) e Fret-iferer ATt el {(2) Only grandchildren
(3 e Tﬁ i (37  Only sons
_/L/Tﬁ wa g 2 A (4) Both sons and daughters
e ‘TW: SPACE FOR ROUGH WORK HindilEnglish
ALHCAMWW/Page 33
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(4) aﬂh‘m,ﬂmqﬁmﬁaﬁ
147. ﬁﬁhﬁmﬁﬁmmmﬁmﬁﬂﬂ?t?
(1) #ifikm
AR T i
(3) w3 wifiysig
(4) i

liﬂ.miﬂﬁﬁﬁia}miﬁﬁ' I o
R ik IS | W
HEATTT
(2) il e
(3) AEgEwm
(d) =g fafm
149, 38 % 3@ ¥ wvmm ¥ R aedt SmE s
b 3fg % o A 4 9
(1) F=fR D
1 ffim B,
(3 fazim A
4) Faafim E

150, Fefefian sfimymt 4 3 SRl e § Shn e &

Famfa’ izl # 2
U ET
GERRET
a7 HeltE
A T
" awmfy
bewde
(21 bdve
(3 n,b'rrq‘r,}L
(4) u,eW@ &~

- L~

146.

147.

14H,

148,

150,

145, In which disease does mosquito transmitte]

pathogen cause chronic inflammation g
Iymphatic vessels ?

(1) Elephantiasis

(2] Ringworm disease

{3) Ascariasis

{4) Amoebiaais

Among the following sets of &n&mpieal for
divergent evolution, select the incorrect aption :
{1} Forelimbs of man, bat and cheetah

(2} Brain of bat, man and cheetah

(3) Heart of bat, man and cheetah

i4) Eye of octopus, bat and man

Which of the following is mel an autoimmuneg
disease 7

{1) Psoriasis

(2)  Alzheimer's disease

(3) “Rheumatoid arthritis

(4} Vitiligo

The similarity of bone structute in the forelimbs
of many vertebrates is an example of

1) Homology
12} Convergent evolution
(3}  Analogy

(4)  Adaptive radiation

Eum_t!:‘ﬁiun of milk to curd improves. its
nutritional value by inereasing the amount of
{1} Vitamin D

(2) vitﬂ-'ﬂﬁﬂ Blﬂ-
(3) Vitamin A
(4}  Vitamin E

‘:"-"lﬁxh_n:rf the following characteristics represent
Inheritance of blood groups’ in humans ?

a. Dominanee

b.  Co-dominance

e.  Multiple allele

d.  Incomplete dominance
2. Polygenic inheritance
{1} bcande

(2) b, dande

3 abandc

(4) &, l-!:LELI:Iﬂ 2
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Fom
fom i & 2 E%ﬁw 151. Which one of tha following population
Tt 39 e fwm N wEm | interactions is widely uged in medical science for
the ucti antibiotics 7
(1) witfem (1) Commensalism
o7 wdifim (2) Parasitism -
y  Amensalism
(4) W=

162. P 3 ok e\ § T a7
(1) T=adm ow ok )
(2) e v
(3) ufEE I

i & 153,

153, =9 18 9 w3 o e 1w @ feem B
a3 fin w Rewdt ¥ F apt e oo
Hifam

ey [

= 1
a  HIEW i UV-BffEm
b, Bl HEm i, WA
c. femrum (FwnEsE) i T WG
d. gEEE iv. smfire Froem
a b L d
(1) A4 i i iv
_,m/’ i i i
(3 i TR U
4y 1 i v iii
54, T 27 o Fgdl WO
' ¢ e i ey s @ S A
(2) ::m A =R A T i
|

{3) mmﬁaﬁmaﬁ:ﬁﬁmﬁﬁ |
(4) Wﬁmmﬁﬁﬁmﬁﬂh

155. 'memﬁ#mmﬂmﬁh 155.

(1) HE 8

152.

All of the following are included in ‘Ex-situ
conservation’ except

(1) Wildlife safari parks

i%) Botanical gardens

{3) Sacred groves

(4] Seed banks

Match the items given in Column I with those in
Column 11 and select the correct option given

below :

Column I Column IT
a. Eutrophication i, UV-Bradiation
b. Sanitary landfill i Deforestation

¢,  Spow blindness i Mutrient

enrichment
d.  Jhum cultivation iv. Waste disposal
0 b L d
{1y i i i iv
(2) i iV i i
(3 i i v i
) i i i il

In agrowing population of a country,

(1) pre-reproductive individuals are more than
the reproductive mdnqd.un!s - B

(2) reproductive and pre-reproductive
individuals are equal in number.

{3 reproductive individuals are less than tha
post-reproductive individuals,

{4) pre-réproductive individuals are less than
the reproductive individuals.

Which part of poppy plant iz used to obtain the
drug "Smack™ ?

i1} Flowers

(2) E A B

_.-'L;”r‘ 3 (3) Latex

(4) el @ @) Leaves
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156, F‘Iﬁﬂlﬁmm}%mmm‘ﬂﬁqﬁﬂﬁﬁ

Rk R

() hC@, hPL, Srey, srafem
(2} he + hPL, ﬁ’lﬁ'ﬂ"ﬁ!:r’ 5
) hCl, hPL, v, fdvem, wRwdifie

P hOC, I, i, gt

187, mifRias et

e ¥ uem ol ) s e § i
* T ) e &

(2) w= [UD%}(__

(3} “ﬂﬁﬁ@mﬂmﬁmgﬁ

e ) e § |
(@) v vy mife 3 X

158, FAaEt ym 1 Yoy g o9 R e 2 o

169, T T e (i) § w0 s g

o 3 ypenE o E, vl g A
T = R

(2) wwﬁwﬁmuﬁﬁﬂﬁﬁmﬂﬁ
Wqﬁ:‘mﬁﬁﬁmﬁﬁmﬁmﬁ,
wrafi T e

(3) T § g W, W I
TR, R

(4) wEEEa d e e §, S e A
wEE W EE Wi # I
Trermait 1 nfee # s g d

156. Hormones secreted by the placenta to mainggg,

157. The contraceptive SAHELD

158, The amnion of mammalian emEry'n is derived

159, The difference between spermiogenecsis and

-

pregnancy are

{13 hCG, hPL, progestogens, prolactin

(2} hCG, hPL, progestogens, estrogens
(3) hCG, hPL, estrogens, relaxin, oxytocin

(4} h(G, progestogens, estrogens,
glucocorticoids

(1) blocks estrogen receplors in the uterus
preventing eggs from geiting implanted.

{2y isan IUD.

(3) increases the concentration of estrogen and
prevents ovalation in females.

{4] s a post-coital contraceptive.

from

i1}  ectoderm and messderm
2~ mesoderm and trophoblast
{3) endoderm and mqmdﬂ_rm
(4) ectoderm and endoderm

spermiation is

(1} In spermiogenesis spermatids are formed,
while in spermiation spermatozoa are
formed.

(2)  In spermiogenesis spermatozon from sertol:
cells are released into the cavity of
seminiferous tubules, while in spermiation
spermatozoa are formed,

{3) In spermiogenesis spermatozoa are formed,
while in spermiation spermatids are
formed.

{(4) In spermiogenesis spermatozoa are formed,
while in spermiation spermatozos aré
released from sertoli cells into the cavity of
seminiferous tubules,
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# & W

ﬁi'iﬁﬂﬁ =t S g o arrehify | 160. Which of the following options correc
“Lﬁ At 3 H Tt 3 o represents the lung conditions in asthma and
a4 Tty T emphysema, respectively 7
2y  w=Ef I 31:|ﬁ|: s A wih (1) Inflammation of bronchioles; Decreased
@) TEEe » Y § Wi respiratory surface
i H e § s i i rface;
. el {2) Increased respiratory  surface;
g -, Inflammation of bronchicles
(4)  veel wme & i, o S {3) Increased number of bronchioles; Increased
ﬁ" M respiratory surface
161, w9 18 % i 3 i e
Lt formm it {4) Decreased respiratory :
A -] , fa ﬁ];.i;ﬁém Inflammation of bronchicles
F WA
R ; 161. Mateh the items given in Column I with those in
ey =y T Colemn I and select the correct option given
— ' below :
™ I, O ™™ 41 ey Cofumn I Column IT
% d a. Tricuspid valve i. Between left atrium
b, fawdt wm i 2R Frem o o and left ventricle
yiwl & 4 b. Bicuspid valve  ii. Between right
ventricle and
c. Wi wWRE i =i e v pulmonary artery
Frema & o= ; e. Semilunarvalve ii. Between right
a b C {L"?f atrium and right
(1) i@ i i L ﬂf’l . ventricle
(2 i i i N ':
m 1
8 3 .
‘__;,d:f;i 1“ :L E;'{I 2y 1 i il
3 i i il
162, =y [ # & mf wdl w1 ey 11 ) vl @ fremne i w4 i
st §= fn o fasedt 4 A wet Reen W oW :
182. DMatch the items given in Column [ with those in
$ifam h in Co I with those i
: Column IT and select the correct option given
Al m Il ki
a.  FEIME AEE i 2500 — 3000 fir.=, Column I Column IT
b, ¥msEEgdEe 6 1100-1200 &R, a. Tidsl volume i. 2500 - 3000 mL
ST b. Inspiratory Reserve i, 1100- 1200 mL
volume
e B g il. 500 650 PL.¥A. c. Expiratory Reserve i, 500 - 550 mL
wlume
d. el s iv. 1000 - 1100 fa#A. d. Residual volume iv. 1000 — 1100 mL
a b e d a b e d
(1) it i i w (1) i ii i iv
i v ii il (2} 1 iv i iti
(3) i i iv i (3) i i iv i
4y v i ii i ) iw ki i i
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163, @ | & @ 7 wet w1 wel @ T i | 163, Match the items ﬁven in Column [ with those in
o 9 P o R 4§ 7@ R 1 Wi Column 11 and seleet the correct option given
_ below :
1 Column I Column IT
] = (Function) {Part of Excretory
(&) (T 79 W ) Systerm)
a, WEEEER L AW a.  Ultrafiltration i. Henle's loop
b. AT B Concentration ii. Ureter
R - Iﬁmﬁ;ﬁ of urine
¢ TEAW AR i qEee c.  Transport of iti. Urinary bladder
d. EwEmEn v dedd s e
: d. Storage of urine iv. Malpighian
v. wifmee wafaa S . corpusele
a b o d v. Proximal
1) iv ¥ i i convoluted fubule
(2) w iv i 1}"( a b C d
4 v iv i i X R i
(3] iv i i iii
164. =y [ 1 2w 92 = w1 a4 e i @ v A ; il
sl = fen o el 4 @ ap? fawen W o= -
it - 164. Match the items given in Column I with those in
Column II and select the correet option given
b eI bakowr
a. T i, el gftew s W Column I Column IT
HoE a, Glyoosuria i Accumulation of uric
b, T i, go% 1 fr=fon e % acid in joints
Rve b. Gout it. Mass of erystallised
) salts within the kidney
c. qﬁﬂ Tt it ﬁ EREL ¢. Renalcaleuli iii. Inflammation in
(fer e glomeruli
d. qﬁ;ﬁﬁ iy, T T TR WA d. Glomerular iv. Presence of glucose in
™ e nephritis urine
d
. h E ) a b ¢ d
W’ A A 2 oy B w4
(2 i iii i iv @ i - ; -
3 i il fii iv @) " i i
by i oo @) iv i W i
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(4) =TEhf

166. mﬁ”‘“ﬁ'ﬁ*ﬁmwamm
Mﬁmﬁ%mﬁ-’“*mm%m
1 B0 T R wwifen ¥ R
(2) ﬁﬁqﬁ#%ﬁﬁmﬁmg.
\3) m@ﬂﬁaﬁﬁmﬂmm:ﬂ

{4) mﬁ?ﬁﬂﬁﬂmﬁﬁ# y
A0 % T amiy
ﬁ‘-‘fh‘&ﬁﬂmil

167. Hﬁilﬁ?ﬂ“ﬁﬂﬁﬁm Il & w2l & fomm ifam
st i Bm o Reed 6 R g e = W
e

wE I wry
a.  FEhEE i Tl EEe
b, wEEE il T
e, UFEiA iiil. W Grnfai
a b o
(1} mi i i
(@2 i iii ii

3 i i
_/m/:J il

168. Ernofefign § & sl o= Siftrend swrw #9
THAT-Ieate 8 HEg W £ 7

165.

166.

167,

168.

Which of the follewing is an occupational
respiratory disorder T

(1)  Anthracis

{2) DBotulism

(3) Silicosis

(4) Emphysema

Caleium is important in  skeletal muscle

contraction because it

(1) binds to troponin to remove the masking of
active sites on actin for myosin,

(2) detaches the myosin head from the actin
filament.

(3) activates the myosin ATPase by binding to.
it.

i4}) prevents the formation of bonds between

the myosin cross bridges and the actin
filament.

Match the items given in Column I with those in

Column TI and select the correct option given
below :

Column I Colummn 11
a.  Fibrinogen i. Osmotic balance i_.
b. Globulin il Blood clotting
¢,  Albumin iit. Defence mechanism ]
a b (= Y
(1) i it i
(2) i iii ii
@ i ii i1
4) i i i

Which of the following gastric cells indirectly
help in erythropoiesis 7

(1) T S B e e
121 Cells
Ty (Tieez ) IR
-/‘2( } (2) . Goblet cells
(3) e Wi (3} Muecwus calls
(4)  firefr Ffird (4) Parietal cells
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) %ﬁ*@amtmﬁm
|
1) i T fm b o T
A e % fom NAD firm T 2 |
:3’ i e e A 2 |
S Loy R o — T £ A
lm.@ﬁm%mmﬂﬁﬁﬂfﬁﬂmﬂ
Wz 1 %4 st wm 4 | T £
W'ﬁﬂﬁﬁi?
o
ﬂ%
(3) ey fez
(4)  %FEwm
l?l.ﬁmﬁmﬁﬁﬂﬁ_ﬁmmmm

() e, famid, frae;

werer e 1 e i

() g TR - g & e
(2) mﬂlﬂfﬁﬂ"’ﬂﬁ—bﬂﬁrﬂnm
(B) ey - ém o

@) TEER T - ifesfe s

173, e % five wem: fewds wi d 4 0
AT W frfrs

(2) =¥ a7 15 SER

(3) nmﬁnm;(\

(4) Eﬂmim’mmnm}{

14 T el W (RER) § ey § @
PHH ST T Ay —_—

172,

169,

170,

171.

172.

173.

4]

Which of these statements is ineorrect 7 |
{1) Enzymes of TCA cycle are present in
mitochondrial matrix.

i it 13 supplied
Glyeolysis operates as long as 1
with NAD that can pick up hydrogen atoms.
Glyeolysis oceurs in cytosol.

Oxidative phosphorylation takes place in
outer mitochondrial membrane.

(2]

{3)
14

' i ith a single
Many ribosomes may assn:lmte wi .
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are
termed as

(1) Polysome

(2)  Plastidome

(3) Polyhedral bodies

4) Nuocleosome

Which of the following terms deseribe human
dentition 7

(1)  Thecodont, Di phyedont, Homodont

{2)  Pleurodont, Monophyodont, Homodont

3} Thecodont, Diphyodont, Heterodont

4)  Pleurcdont, Diphyodont, Heterodont

Select the incorrect match :

{1} Lamphrush — Diplotene hivalents
chromosomes

(2)  Submetacentric — L-shaped chromososmes
thromosomes

(3] Allosomes - Bex chromosomes

(4} Polytene = Docytes of amphibians
chromosomes

Nissl bodies are mainly composed of
(1) Proteins and lipids

(2} Nucleie acids and SER

(3) DNAand RNA

FTE'E hhﬂ&nmm and RER

174. Which of the following events does not pecur in
0 S rough endoplasmie reticulum ?
e r—— - (1) Protein folding
@) (2)  Cleavage of signal peptide
4) TR I‘I‘?ﬁm (3} Protein glycosylation
" 4} Phospholipid nthesis
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178. ﬁﬂ%%aﬁﬂaﬁq.mqm -

Sk 175. Which one of these animals is not a
A’ﬁ’ i3 homeotherm ?
> Gk (1) Macropus
> {9) Camelus
(4) fodgem

. : (3) Chelone
AETER RS (4) Psittacula
= M FwwE B w=E i
Fidi & w0 § 0 '

178. Which of the following features is used to identify
y/ﬁmﬂ'ﬁmﬂw% AR T amalem;krﬂaﬂh'ﬁ'umaf&mnlemh'uach?
' (1} Presence of a hoat ghaped sternum on the
(2) L YAW =R TR W v o't ahdominal u;gment .
{(2) Forewings with darker tegmina
- E:ﬁ;ﬁ iﬁ: mﬁ'ﬁ‘%ﬁ (3) Presence of caudal styles
@ h {4} Presence of anal cerci

| 177. HHE % tlﬁq_‘aﬂ 1 ggam Hifam ot awd | 177, Identify the wertebrate group of animals

e A 8 e T i g st § | characterized by crop and gizzard in its digestive
= gystem.
(1)
(1) Amphibia
ﬁmﬁﬁ (2} Aves
| b {3} Haptilia
(4) bz

(4) Osteichthyes
@--—-p sy 7ol wdtan & e v i #2 |178. Ciliates differ from all other protozoans in_

(1) e 5 fm el = @ w1 1) using fagella for locomotion
(2y & form = "I‘FE';'f % form e 1 A S i (2} using pseudopodia for capturing prey
(1) T8 sk o = REen & T ageim (3] having a contractile vacuole for removing
et gl B excess water
yf/ Eﬁmw—' {4) having two types of nuclei
179, i § & $R-8 F e § g TEs | 179, Which of the following organisms are known as
e T . chief producers in the oceans ? 3
(1) e (1) Dinoflagellates
(2) WA (2) Cyanobacteria
e (3) Diatoms
(4) W “ {4) Euglenoids
150, e wrgal 4 -8 g e g wa 7| 190 Which of the bllowing animals does nof vadere?
(1) g - {1} Farthworm
(2) wiw (2) Moth
_,Aﬁﬁ/ e {3) Tunicate
, (4) wnfEN (4} Starfish
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